2023F11HE BT/ ITEE EFLAHAGRES
FAIYHN—D5T

2023%E11 F20H(H) (7236y P72)
Bz  E & 7 E T0 our w x| B K& A T0 our w x| IBfE  E £ BB 10 our w ks
1 HE —& EK 71 35 36 25|24 FJE AA K 81 39 42 2 | 61 1EEE ML S11X 88 47 41
2 o Bz @ #E 75 36 39 24 | 24 KM (RHIES HE 81 40 41 2 | 61 LA I[EZH F—a7sL— 88 40 48
3 FH H#A HE 76 39 37 23|33 MM BE AF 82 40 42 61 #/)l| EEE LAY 88 42 46
4 HE FA Er 76 38 38 23| 33 ff E— E3-3 82 40 42 64 =% ZFi7 E# 89 48 41
5 FEX FHFE HEH 77 40 37 21|33 HWH HE FEX 82 39 43 65 A H YOq4) 90 44 46
5 HE HIE X% 77 39 38 21|33 itH MEth - REF 82 40 42 66 HH HiE  HEE 91 42 49
5 ER HH  AAF 7739 38 21|37 BE mE #F 83 39 44 66 =H BHZS  FHIOEFEL 91 44 47
5 X # EE 77 38 39 21|37 HH =i @ IEE 83 43 40 66 B ZEHE « FERHIE 91 45 46
9 EIE UH  FrU—EE 78 39 39 17|37 BH FHE EFH 83 41 42 69 RE MIE  7—FrL10 92 48 44
9 XFE RE RE 78 39 39 17| 37 K FE MWK 83 41 42 70 INE Hith W EHREE 93 41 82
9 =Lt BZE EEF 78 35 43 17| 37 FER B HEBE 83 43 40 71 Bk FiT W EE 94 45 49
9 &k F# AN EFRE 78 37 41 17| 37 FEH F—H KF 83 40 43 71 EH FE  KFE-AFE 94 47 47
9 HFH BEE  KOMA 78 38 40 17| 37 #/N fFL  T—nio— 83 43 40 71 HFREX 2 RuH 94 48 46
9 FEHE EF = 78 39 39 17| 37 ##H #EHL  HAF 83 40 43 71 EH = AESE 94 44 50
15 FiE ks XE 79 39 40 11|37 #E B  HAF 83 43 40 75 JEH HE X 96 46 50
15 /DHIE #d A% 79 40 39 11|37 FTE EA  FUYLEYS 83 38 45 75 HH #EL X5 96 45 51
15 B & L1779 39 40 11 | 47 Mg FIE  JAF 84 40 44 B WE % EE5L

15 XF7 BE LAY 79 33 46 11| 47 BA 4hE - XHE 84 43 41 xm U G hE

15 BEEH E#H  T—a7is— 79 40 39 11| 47 R FEE EFIH 84 42 42 xm HE ELXE RoF

20 JilO B  H#AF 80 39 41 6 | 47 =& EifT  KOMA 84 41 43 %k FH EH#HE  FYALEYD

20 ZH [EE  F—a7oi— 80 40 40 6 | 47 EF K4E wE 84 42 42 xm WA A B

20 XA —H#E  HEC 80 40 40 6 | 52 BE EE K 85 42 43 xE WX BFE  #EISFEL

20 Zf Bt EEoSSws 80 38 42 6 | 52 BREE #FE PGMHEH 85 43 42 X TH  GE MFFA > 5—

24 A B HE 81 40 41 2 |54 F EBEH HEEE 86 41 45 xE AKX BR  FREE

24 HF FHat  HUY—, 81 42 39 2 | 54 BER Bl FrU—ELX 86 42 44 xE X B  EWN/RE

24 #H [EE EBEH 81 43 38 2 | 54 #t FI¥E  HIL—F+ 86 42 44 xE LH Bth EF

24 B15 FXH ELEH 81 38 43 2 | 57 A F— F 87 44 43 % B #%E AF

24 8 #h— XF 81 44 37 2 |57 BH HEX  AREEXFE 87 45 42

24 BX BFE  LsoTrLRF 81 42 39 2 | 57 #EEK #A  EHEOrtL 87 42 45 86 ~ 91X FO—2 VR [EIH 5= 1F

24 ZEF UEL RE 81 40 41 2 | 57 #BH FEHE  KFE-AXE 87 44 43 2R FO—D LTI R [E1HV 5 2[6] = 1L




